‘ 202 2%k
RET #1417 —F 1 @LHER

By AfdF5H1180Kk) 18 103K
Wk RATWREEE Y
EX( T ® il
R TIRE WA
RE W LA J—F 22270703 / 274070
HSURaAL T 49y
Bt Bz K{E R BE AR BUR
5/11 18:10 Eh 23.9°C 64% fHEmE | 3.5m/s
5/11 19:00 Eh 22.4°C 72% o] 3.7m/s
5/11 20:00 Eh 22.0°C 78% HEeE | 2.2m/s
IN > 2
WX ,]f. ]53)] aﬁk
D p > .3 3
£ & o
IR EAE gL I




Ak —Fa R

iy WHMERBEES A 2 -5 1EREER o—R 22270703 B ]
R (i
B4 WHEMILAEESS o—R 274070 FhER T B
FHeFRL R
NSNS
H SMA4ES/F11H (k) MR IR RS
BF+1500m
AL NEQZ 7 5 K 4 T4 F AR A VAN = K 4 R4 F FO%
1| 382 [l Fuk bFHEE 3 4.13.13 2| 753 |EMR TuE — e 3 4.14. 28
3| 1316 [{[BF &K REER 4 4.15.02 4] 144 |8FH _ —2 EAlLE 3 4.17.08
5] 135 |ERJI 1B B 58] 3 4.17.12 6] 2400J[FEH K¥H —BE 3 4.18.69
7] 144 YR ORI L[58 1 1 4.20. 28 8| 146 [Hi® =i Bl [o8] 1 1 4. 20. 70
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